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Q.1 Select the most appropriate option that can substitute the underlined words in the
given sentence.
One of them who were hidings at the back of a rock fired at the villagers.

Ans 1. one of them who were hiding behind a rock
2. one of them who was hide behind a rock
3. one of them who hiding behind a rock

4. one of them who was hiding behind a rock

Question ID : 264330143119
Status : Answered
Chosen Option : 4

Q.2 Select the word which means the same as the group of words underlined in the given
sentence.
| can’t believe that | am doing this ordinary and dull task.

Ans 1. immoral
2. tenacious
3. mundane

4. destitute

Question ID : 264330144274
Status : Answered
Chosen Option : 3

Q.3 Select the option that expresses the given sentence in superlative degree of
comparison.

It was probably the happy afternoon of her life.
Ans 1. This afternoon of her life was the happy.
2. It was an happier afternoon in their life before that.
3. No change needed

4. It was probably the happiest afternoon of her life.

Question ID : 264330143885
Status : Answered
Chosen Option : 4




Q.4 Parts of a sentence are given below in jumbled order. Arrange the parts in the correct
order to form a meaningful sentence.
P. but results in widespread hunger, death and social unrest
Q. some of the causes of famine in that region
R. drought, floods, war and economic instability are
S. which not only causes severe shortage of food

Ans 1. RQSP
2. RSQP
3. QRSP
4. QPSR

Question ID : 264330151315
Status : Answered
Chosen Option : 1

Q.5 Select the most appropriate option to fill in the blank.
The __ age for retirement is 65 years in India.
Ans 1. mendatory
2. mendetory
3. mendaytory

4. mandatory

Question ID : 264330144135
Status : Answered
Chosen Option : 4

Q.6 Parts of the following sentence have been given as options. Select the option that
contains an error.
The news is very good to be true.

Ans 1. to be true
2. very good
3. The news

4. is

Question ID : 264330149682
Status : Answered
Chosen Option : 2

Q.7 The following sentence has been split into four segments. Identify the segment that

contains a spelling error.
They need to / wave the participation / fees for people / with disabilities.

Ans 1. wave the participation
2. with disabilities.
3. fees for people

4. They need to

Question ID : 264330144287
Status : Answered
Chosen Option : 1




Q.8 Select the option that can be used as a one-word substitute for the underlined
segment.

The child was not guilty of any wrongdoing_ and lacked knowledge or awareness of
wrongdoing.

Ans 1. ignorant
2. inexperienced
3. innocent

4. cruel

Question ID : 264330149810
Status : Answered
Chosen Option : 3

Q.9 Parts of asentence are given below in jumbled order. Select the option that arranges
the parts in the correct order to form a meaningful sentence.

A.Looks first to his own profit

B. And then to the king’s,

C. Or destroys the king’s gain altogether
D.The chief collector of revenue

Ans 1.B,D,AC
2.D,A/B, C
3.D,C,A B

4.A,B,C,D

Question ID : 264330142613
Status : Answered
Chosen Option : 2

Q.10 Select the most appropriate synonym of ‘potential’ in the given sentence.

| have seen Radhya growing in the last few years; she now has the capability to fight
worse situations.

Ans 1. Worse
2. Situations
3. Growing
4. Capability

Question ID : 264330144321
Status : Answered
Chosen Option : 4

Q.11 Select the most appropriate synonym for the given word.
Strength
Ans 1. Recluse
2. Weakness
3. Power

4. Disability

Question ID : 264330149881
Status : Answered
Chosen Option : 3




Q.12 Select the most appropriate synonym of the given word.
Feasibility

Ans 1. Sustainability
2. Impropriety
3. Heavy

4. Probability

Question ID : 264330141285
Status : Answered
Chosen Option : 1

Q.13 Select the option that expresses the given sentence in active voice.
Would pizza or burger rather be eaten by you?

Ans 1. Would you rather eat pizza or burger?
2. Would you rather eaten pizza or burger?
3. Would you rather ate pizza or burger?

4. Would you eat pizza or burger?

Question ID : 264330144829
Status : Answered
Chosen Option : 1

Q.14 Select the most appropriate option that can substitute the underlined words in the
given sentence.

She's been beating_around the bush all afternoon - | just wish she would come out and
tell us what she really thinks.

Ans 1. avoiding to talk directly about a topic or issue

2. trying to be overprotective
3. denying to have her head in the clouds

4. there to give the cold shoulder

Question ID : 264330144168
Status : Answered
Chosen Option : 1

Q.15 Select the most appropriate synonym of the given word.
Elaborate
Ans 1. Easy
2. Complex
3. Simple
4. Plain

Question ID : 264330144150
Status : Answered
Chosen Option : 2




Q.16 Select the most appropriate option that can substitute the underlined words in the
given sentence.

It's not polite to blow your own trumpet in front of others.

Ans 1. brag one’s own accomplishment
2. criticise someone unfairly
3. play a musical instrument

4. give someone a compliment

Question ID : 264330144165
Status : Answered
Chosen Option : 1

Q.17 Select the most appropriate option that can be used as a one-word substitute for the
underlined segment in the following sentence.

After the scandal, the king was left with no choice but to announce his act of
renouncing the throne.

Ans 1. coronation
2. extradition
3. exoneration

4. abdication

Question ID : 264330148911
Status : Answered
Chosen Option : 4

Q.18 Select the most appropriate ANTONYM of the given word.

Ambivalent
Ans 1. Unpredictable
2. Legitimate
3. Unequivocal

4. Irresistible

Question ID : 264330143982
Status : Answered
Chosen Option : 4

Q.19 Select the most appropriate option that expresses the given sentence in active voice.
The package was delivered by the courier to the recipient's doorstep.

Ans 1. The recipient received the package delivered by the courier.
2. The package was being delivered by the courier to the recipient's doorstep.
3. The courier delivered the package to the recipient's doorstep.

4. The package was delivered to the recipient's doorstep by the courier.

Question ID : 264330144190
Status : Answered
Chosen Option : 4




Q.20 Select the most appropriate option that can replace the underlined word in the
following sentence.

The incorrigible optimism displayed by Aishwarya in difficult situations turned out her
to be a favourite among her friends.

Ans 1. translucent
2. illustrious
3. unchanged

4. barefooted

Question ID : 264330148926
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Climatic disasters are (1) increasingly common due to the effects of climate
change. These disasters include extreme weather events such as hurricanes, tornadoes,
floods and droughts. To mitigate the effects of these disasters, it is essential to invest in

disaster preparedness and (2) . The impact of climatic disasters is not limited
to the loss of life and property damage. For example, hurricanes can disrupt the oil and gas
industry, leading to higher fuel prices and (3) . Floods can damage crops and

infrastructure, leading to food shortages and disruptions to transportation systems. Rising
temperatures can lead to more frequent heat waves, while changes in precipitation patterns
can lead to more (4) droughts and floods. Climatic disasters
disproportionately affect vulnerable populations. Collaboration among governments,
communities and businesses is crucial for effective disaster preparedness and response. This
involves investing in early warning systems, improving infrastructure and emergency services

and planning for post-disaster recovery. By taking a (5) approach to disaster
management, we can reduce the impacts of climatic disasters and build more resilient
communities.

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank 1.
Ans 1. became

2. becoming
3. become

4. becomes

Question ID : 264330149804
Status : Answered
Chosen Option : 2




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Climatic disasters are (1) increasingly common due to the effects of climate
change. These disasters include extreme weather events such as hurricanes, tornadoes,
floods and droughts. To mitigate the effects of these disasters, it is essential to invest in

disaster preparedness and (2) . The impact of climatic disasters is not limited
to the loss of life and property damage. For example, hurricanes can disrupt the oil and gas
industry, leading to higher fuel prices and (3) . Floods can damage crops and

infrastructure, leading to food shortages and disruptions to transportation systems. Rising
temperatures can lead to more frequent heat waves, while changes in precipitation patterns
can lead to more (4) droughts and floods. Climatic disasters
disproportionately affect vulnerable populations. Collaboration among governments,
communities and businesses is crucial for effective disaster preparedness and response. This
involves investing in early warning systems, improving infrastructure and emergency services
and planning for post-disaster recovery. By taking a (5) approach to disaster
management, we can reduce the impacts of climatic disasters and build more resilient
communities.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank 2.
Ans 1. regeneration

2. response
3. evaluation

4. manifestation

Question ID : 264330149805
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Climatic disasters are (1) increasingly common due to the effects of climate
change. These disasters include extreme weather events such as hurricanes, tornadoes,
floods and droughts. To mitigate the effects of these disasters, it is essential to invest in

disaster preparedness and (2) . The impact of climatic disasters is not limited
to the loss of life and property damage. For example, hurricanes can disrupt the oil and gas
industry, leading to higher fuel prices and (3) . Floods can damage crops and

infrastructure, leading to food shortages and disruptions to transportation systems. Rising
temperatures can lead to more frequent heat waves, while changes in precipitation patterns
can lead to more (4) droughts and floods. Climatic disasters
disproportionately affect vulnerable populations. Collaboration among governments,
communities and businesses is crucial for effective disaster preparedness and response. This
involves investing in early warning systems, improving infrastructure and emergency services

and planning for post-disaster recovery. By taking a (5) approach to disaster
management, we can reduce the impacts of climatic disasters and build more resilient
communities.

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank 3.
Ans 1. fatigue

2. shortages
3. failure

4. drought

Question ID : 264330149806
Status : Answered
Chosen Option : 2




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Climatic disasters are (1) increasingly common due to the effects of climate
change. These disasters include extreme weather events such as hurricanes, tornadoes,
floods and droughts. To mitigate the effects of these disasters, it is essential to invest in

disaster preparedness and (2) . The impact of climatic disasters is not limited
to the loss of life and property damage. For example, hurricanes can disrupt the oil and gas
industry, leading to higher fuel prices and (3) . Floods can damage crops and

infrastructure, leading to food shortages and disruptions to transportation systems. Rising
temperatures can lead to more frequent heat waves, while changes in precipitation patterns
can lead to more (4) droughts and floods. Climatic disasters
disproportionately affect vulnerable populations. Collaboration among governments,
communities and businesses is crucial for effective disaster preparedness and response. This
involves investing in early warning systems, improving infrastructure and emergency services
and planning for post-disaster recovery. By taking a (5) approach to disaster
management, we can reduce the impacts of climatic disasters and build more resilient
communities.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank 4.
Ans 1. fast

2. rare
3. frequent

4. speedy

Question ID : 264330149807
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Climatic disasters are (1) increasingly common due to the effects of climate
change. These disasters include extreme weather events such as hurricanes, tornadoes,
floods and droughts. To mitigate the effects of these disasters, it is essential to invest in

disaster preparedness and (2) . The impact of climatic disasters is not limited
to the loss of life and property damage. For example, hurricanes can disrupt the oil and gas
industry, leading to higher fuel prices and (3) . Floods can damage crops and

infrastructure, leading to food shortages and disruptions to transportation systems. Rising
temperatures can lead to more frequent heat waves, while changes in precipitation patterns
can lead to more (4) droughts and floods. Climatic disasters
disproportionately affect vulnerable populations. Collaboration among governments,
communities and businesses is crucial for effective disaster preparedness and response. This
involves investing in early warning systems, improving infrastructure and emergency services

and planning for post-disaster recovery. By taking a (5) approach to disaster
management, we can reduce the impacts of climatic disasters and build more resilient
communities.

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank 5.

Ans 1. proactive
2. productive
3. bioactive

4. inactive

Question ID : 264330149808
Status : Answered
Chosen Option : 2

Section : General Intelligence




Q.1

Ans 1.
2. @G53
Question ID : 264330147363
3 Status : Answered
4. Chosen Option : 4

Q.2 Read the given statements and conclusions carefully. You have to take the given statements to be true even if they
seem to be at variance from commeonly known facts. You have to decide which conclusion/s logically and definitely
follow/s from the given statements.

Statements: Some Salts are Baths. All Tubs are Drums. Some Baths are Tubs.

Conclusions: (1) Some Salts are Tubs.

(II) Some Drums are Baths.

Ans 1. Both conclusions (1) and (1) follow.

2. Both conclusions (1) and (1) do not follow.

3. Only conclusion (I) follows. Question ID : 264330151164

Status : Answered

4. Only conclusion (11) follows. ,
Chosen Option : 4




Q.3

Ans

LIIDNI M

Bl

Question ID : 264330146482
Status : Answered
Chosen Option : 2

Q.4
Ans 1

Question ID : 264330146562
Status : Not Answered
Chosen Option : --




Q5

Ans L4:16:12
2.15:225: 210
3.11:121:110
4 . . Question ID : 264330150874
- 7:49:40 Status : Answered
Chosen Option : 4
Q.6
Ans 1. 25
2. 43
3. 13
4. 35 Question ID : 264330151034
Status : Answered
Chosen Option : 4
Q.7
Ans 1.
2.
3.
Question ID : 264330146950
4. Status : Answered
Chosen Option : 1
Q.8
Ans 1.
2.
3.
4. Question ID : 264330147399

Status : Answered
Chosen Option : 4




Q.9

Ans 1. 2?4
2.
3.
4.
Question ID : 264330147434
Status : Answered
Chosen Option : 4
Q.10
Ans 1. ECA
2. THF
3. FDB
4. DFH Question ID : 264330152077

Status : Answered
Chosen Option : 3




Q.11

Ans

c DT
! Ol
Z 8
c 8 17T
2 0
D z
T D O
3 C
Z 8
D 8 Z
4 [
Question ID : 264330151185
C T Chosen 2:)"’:;‘: TOt Answered
Q.12

Ans 1.3:21:147

2.
3.1:7:49
4. 10:70: 490

Question ID : 264330150871
Status : Answered
Chosen Option : 2




Q.13

Ans 1.
2 TGY
3.
Question ID : 264330147482
4 Status : Answered
Chosen Option : 3
Q.14
Ans 1. 120
2. 125
3. 146
4. 135 Question ID : 264330146753
Status : Answered
Chosen Option : 4
Q.15
Ans 1.

2. Father’s son
3.

4.

Question ID : 264330150989
Status : Answered
Chosen Option : 1




Q.16

Ans 1. Old — Young
2.
3.
4. Question ID : 264330147262
Status : Answered
Chosen Option : 1
Q.17
Ans 1.
2.
3.
4 Question ID : 264330146747
Status : Not Answered
Chosen Option : --
Q.18
Ans 1. 14
2. 12
3. 15
4. 16

Question ID : 264330146931
Status : Answered
Chosen Option : 4




Q.19

Ans -0
. 4
-5
4. 6 Question ID : 264330146586
Status : Answered
Chosen Option : 4
Q.20
Ans .70
- B3
- 72
. 67 Question ID : 264330152184
Status : Not Answered
Chosen Option : --
Q.21
Ans

Question ID : 264330146701
Status : Answered
Chosen Option : 4




Q.22

Ans

1.
2. Neither conclusion I nor IT follows.
3. Question ID : 264330152019
Status : Answered
4. Chosen Option : 4
Q.23
Ans 1.
2. Sister
3.
4.
Question ID : 264330151437
Status : Answered
Chosen Option : 1
Q.24
Ans 1.
2.
3.
4.
Question ID : 264330146962
Status : Answered
Chosen Option : 2
Q.25
Ans 1.
2.
3.
4 Question ID : 264330147326

Status : Answered
Chosen Option : 3




Section : Quantitative Aptitude

Q1
Ans 1. 11.25
2.
3.
4. 10.75 Question ID : 264330146816
Status : Not Answered
Chosen Option : --
Q.2
Ans 3
1. —
4
5
2. —
4
4
3. -
5
4 2
3
Question ID : 264330151390
Status : Answered
Chosen Option : 2
Q.3
Ans 1.4
2.
33
4.13
Question ID : 264330147883
Status : Answered
Chosen Option : 1
Q4
Ans 1. 504
2.
3. 12%
4. Question ID : 264330148235

Status : Answered
Chosen Option : 2




Q5

Ans 1. 30%
2. 20%
3. 15%
4. 40%
Question ID : 264330148156
Status : Answered
Chosen Option : 2
Q.6
Ans 1.
2.
3.0.93
4. 0.73
Question ID : 264330148066
Status : Not Answered
Chosen Option : --
Q.7
Ans 1]
2.3
3 4
4. 2
Question ID : 264330147993
Status : Answered
Chosen Option : 3
Q.8
Ans 1. 7o
2. 68°
3. 70°
4 44°

Question ID : 264330148862
Status : Answered
Chosen Option : 2




Q.9

Ans L 17 cm
2.
3.
4.
Question ID : 264330148209
Status : Answered
Chosen Option : 4
Q.10
Ans . 3,860
. 3,000
. 4,550
. 3,205
Question ID : 264330151048
Status : Not Answered
Chosen Option : --
Q.11
Ans = |
-1
-0
1
2
Question ID : 264330148211
Status : Not Answered
Chosen Option : --
Q.12
Ans 1. 4
-2
-2
-4

Question ID : 264330147950
Status : Answered
Chosen Option : 1




Q.13

Ans

- 30
- 31
- 29
- 28

Question ID : 264330150929
Status : Answered
Chosen Option : 4

Q.14

Ans

Question ID : 264330147938
Status : Answered
Chosen Option : 1

Q.15

Ans

Question ID : 264330148784
Status : Not Answered
Chosen Option : --

Q.16

Ans

Question ID : 264330149258
Status : Answered
Chosen Option : 1




Q.17

Ans
1.
2.
3.
4,
Question ID : 264330147629
Status : Answered
Chosen Option : 3
Q.18
Ans
1
1. —
4
1
2. —
7
3. 2
4.4
Question ID : 264330147648
Status : Answered
Chosen Option : 1
Q.19
Ans 1M
2. B
3D Question ID : 264330147672

Status : Answered
4. A Chosen Option : 2




Q.20

Ans 1 7.25
2. 7.50
3. 7.40
4. 7.75
Question ID : 264330148816
Status : Not Answered
Chosen Option : --
Q.21
Ans 1.
2. 367.520

3. 36,75,200

4.

Question ID : 264330150947
Status : Not Answered
Chosen Option : --




Q.22

Ans 81
1. 87— km/h
99
89
2. 83— km/h
93
83
3 89— km/h
93
91
4. 82; km/h Question ID : 264330150740
Status : Not Answered
Chosen Option : --
Q.23
Ans 1.
2.
3.
4.
Question ID : 264330148006
Status : Not Answered
Chosen Option : --
Q.24
Ans 1.
2.
3.
4.
Question ID : 264330148254
Status : Not Answered
Chosen Option : --
Q.25
Ans 1.
2.
3.
4.

Question ID : 264330147761
Status : Not Answered
Chosen Option : --

Section : General Awareness




Q.1

Ans 1.
2.
3.
4. Question ID : 264330146102
Status : Not Answered
Chosen Option : --
Q.2
Ans 1.
2.
3.
4. Question ID : 264330144695
Status : Not Answered
Chosen Option : --
Q.3 is/are an item for which both, GST and central excise duty are applicable in
India.
Ans 1.
2.
3.
4,
Question ID : 264330145870
Status : Answered
Chosen Option : 4
Q4
Ans 1.
2.
3.

4. Lord Canning

Question ID : 264330152555
Status : Answered
Chosen Option : 1




Q5

Ans 1.

Question ID : 264330146004
Status : Not Answered
Chosen Option : --

Ans L. Tamil Nadu

Q.6 Which state appointed Robin Uthappa as brand ambassador for the Brain Health Initiative in 20227

Ans 1. Vikramasila
2. Walanda
3. Valabhi

4. Taxila

2.
3. Odisha
4. Karnataka
Question ID : 264330146295
Status : Not Answered
Chosen Option : --
Q.7
Ans 1
2.
3.
4,
Question ID : 264330154828
Status : Not Answered
Chosen Option : --
Q.8

Question ID : 264330150089
Status : Not Answered
Chosen Option : --




Q.9

Ans 1.
2.
3.
4,
Question ID : 264330145777
Status : Not Answered
Chosen Option : --
Q.10
Ans 1. To establish a welfare state
2. To have an absolute independence
3. To promote economic justice
4. To establish political democracy
Question ID : 264330145931
Status : Answered
Chosen Option : 1
Q.11
Ans 1.
2.
3.
4,
Question ID : 264330144487
Status : Answered
Chosen Option : 1
Q.12
Ans 1.
2.
3.
4.

Question ID : 264330145928
Status : Answered
Chosen Option : 3




Q.13

An

S

Question ID : 264330145614
Status : Not Answered
Chosen Option : --

Q14 Padayani is a folk dance from which state?

Ans 1. Kerala
2. Karnataka
3.
4. Tamil Nadu
Question ID : 264330148640
Status : Not Answered
Chosen Option : --
Q.15
Ans 1.
2.
3.
4 Question ID : 264330146257
Status : Answered
Chosen Option : 2
Q.16
Ans 1.
2.
3.
4,

Question ID : 264330144772
Status : Answered
Chosen Option : 1




Q.17

Ans 1.
2.
3.
4 Question ID : 264330144736
Status : Answered
Chosen Option : 3
Q.18
Ans
Question ID : 264330145589
Status : Not Answered
Chosen Option : --
Q.19
Ans 1
2.
3. Coal
4.
Question ID : 264330150298
Status : Answered
Chosen Option : 3
Q.20
Ans 1.
2.
3.
4. Question ID : 264330145804

Status : Not Answered
Chosen Option : --




Q.21

Ans 1.

2.

3.

4.

Question ID : 264330149375
Status : Answered
Chosen Option : 4

Q.22
Ans 1.

2.

3.

4.

Question ID : 264330146121
Status : Answered
Chosen Option : 1

Q.23
Ans 1

2.

3.

4.

Question ID : 264330145811
Status : Not Answered
Chosen Option : --

Q24 \Who among the following was one of the founders of the Indian Association, established in 18767

Ans 1. Dadabhai Naoroji
2. Surendranath Banerjee

3. Mahadev Govind Ranade

4. Sisir Kumar Ghosh
Question ID : 264330151224

Status : Not Answered
Chosen Option : --




Q.25

Ans

Question ID : 264330149358
Status : Answered
Chosen Option : 3
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